



2026 TUITION & FEES

Item	Fee	Programs	Hours	Lessons	Price	20% Discount	Student Price
Application & Placement Fee (One time)	\$200.00	Semi-Intensive	15/week	20/week	\$265	-\$53.00	\$212.00
Textbook & Materials (Per level)	\$190.00 *	Intensive	25/week	33/week	\$395	-\$79.00	\$316.00
Medical Insurance	\$30/week	Accelerated	35/week	46/week	\$605	-\$121.00	\$484.00
Homestay Application Fee (One time)	\$205.00	Pathway 1*	25/week	33/week	\$395	-\$79.00	\$316.00
Homestay (3 meals / day)	\$350/week	Pathway 2*	25/week	33/week	\$505	-\$101.00	\$404.00
Airport Pick-Up (One way)	\$135.00						
Airport Drop-Off	\$135.00						
Custodianship	\$140.00						

- \$190 is for Intensive English, additional fees apply for Accelerated program.
- \$95 is for Semi - Intensive Program. Textbook fees are charged per level (10 weeks).

- Pathway 1 & 2 are sold as 10 week blocks.

Volume Discount Intensive Program (25 hours / week)		
Study Period	Weekly Price	Weekly Price (20% Off)
1 – 10 Weeks	\$395 CAD/week	\$316.00
11 – 21 Weeks	\$375 CAD/week	\$300.00
22 – 32 Weeks	\$365 CAD/week	\$292.00
33+ Weeks	\$355 CAD/week	\$284.00

Volume Discount Semi Intensive Program (15 hours / week)		
Study Period	Weekly Price (New)	Weekly Price (20% Off)
1 – 10 Weeks	\$265 CAD/week	\$212.00
11 – 21 Weeks	\$250 CAD/week	\$200.00
22 – 32 Weeks	\$245 CAD/week	\$196.00
33+ Weeks	\$240 CAD/week	\$192.00

INTENSIVE PROGRAM (25 HRS/WEEK) – WITH HOMESTAY

Weeks	Price/Week	Tuition	20% Discount	Application Fee	Books	Homestay Placement	Homestay Fee	Medical Insurance	Total
4	\$395.00	\$1,580.00	-\$316.00	\$200.00	\$190.00	\$205.00	\$1,400.00	\$120.00	\$3,379.00
8	\$395.00	\$3,160.00	-\$632.00	\$200.00	\$190.00	\$205.00	\$2,800.00	\$240.00	\$6,163.00
12	\$375.00	\$4,500.00	-\$900.00	\$200.00	\$190.00	\$205.00	\$4,200.00	\$360.00	\$8,755.00
16	\$375.00	\$6,000.00	-\$1,200.00	\$200.00	\$190.00	\$205.00	\$5,600.00	\$480.00	\$11,475.00
20	\$375.00	\$7,500.00	-\$1,500.00	\$200.00	\$190.00	\$205.00	\$7,000.00	\$600.00	\$14,195.00
24	\$365.00	\$8,760.00	-\$1,752.00	\$200.00	\$190.00	\$205.00	\$8,400.00	\$720.00	\$16,723.00
30	\$365.00	\$10,950.00	-\$2,190.00	\$200.00	\$190.00	\$205.00	\$10,500.00	\$900.00	\$20,755.00
40	\$355.00	\$14,200.00	-\$2,840.00	\$200.00	\$190.00	\$205.00	\$14,000.00	\$1,200.00	\$27,155.00

INTENSIVE PROGRAM (25 HRS/WEEK) – WITHOUT HOMESTAY

Weeks	Price/Week	Tuition	20% Discount	Application Fee	Books	Homestay Placement	Homestay Fee	Medical Insurance	Total
4	\$395.00	\$1,580.00	-\$316.00	\$200.00	\$190.00	\$0.00	\$0.00	\$120.00	\$1,774.00
8	\$395.00	\$3,160.00	-\$632.00	\$200.00	\$190.00	\$0.00	\$0.00	\$240.00	\$3,158.00
12	\$375.00	\$4,500.00	-\$900.00	\$200.00	\$190.00	\$0.00	\$0.00	\$360.00	\$4,350.00
16	\$375.00	\$6,000.00	-\$1,200.00	\$200.00	\$190.00	\$0.00	\$0.00	\$480.00	\$5,670.00
20	\$375.00	\$7,500.00	-\$1,500.00	\$200.00	\$190.00	\$0.00	\$0.00	\$600.00	\$6,990.00
24	\$365.00	\$8,760.00	-\$1,752.00	\$200.00	\$190.00	\$0.00	\$0.00	\$720.00	\$8,118.00
30	\$365.00	\$10,950.00	-\$2,190.00	\$200.00	\$190.00	\$0.00	\$0.00	\$900.00	\$10,050.00
40	\$355.00	\$14,200.00	-\$2,840.00	\$200.00	\$190.00	\$0.00	\$0.00	\$1,200.00	\$12,950.00

SEMI-INTENSIVE PROGRAM (15 HRS/WEEK) – WITH HOMESTAY

Weeks	Price/Week	Tuition	20% Discount	Application Fee	Books	Homestay Placement	Homestay Fee	Medical Insurance	Total
4	\$265.00	\$1,060.00	-\$212.00	\$200.00	\$95.00	\$205.00	\$1,400.00	\$120.00	\$2,868.00
8	\$265.00	\$2,120.00	-\$424.00	\$200.00	\$95.00	\$205.00	\$2,800.00	\$240.00	\$5,236.00
12	\$250.00	\$3,000.00	-\$600.00	\$200.00	\$95.00	\$205.00	\$4,200.00	\$360.00	\$7,460.00
16	\$250.00	\$4,000.00	-\$800.00	\$200.00	\$95.00	\$205.00	\$5,600.00	\$480.00	\$9,780.00
20	\$250.00	\$5,000.00	-\$1,000.00	\$200.00	\$95.00	\$205.00	\$7,000.00	\$600.00	\$12,100.00
24	\$245.00	\$5,880.00	-\$1,176.00	\$200.00	\$95.00	\$205.00	\$8,400.00	\$720.00	\$14,324.00
30	\$245.00	\$7,350.00	-\$1,470.00	\$200.00	\$95.00	\$205.00	\$10,500.00	\$900.00	\$17,780.00
40	\$240.00	\$9,600.00	-\$1,920.00	\$200.00	\$95.00	\$205.00	\$14,000.00	\$1,200.00	\$23,380.00

SEMI-INTENSIVE PROGRAM (15 HRS/WEEK) – WITHOUT HOMESTAY

Weeks	Price/Week	Tuition	20% Discount	Application Fee	Books	Homestay Placement	Homestay Fee	Medical Insurance	Total
4	\$265.00	\$1,060.00	-\$212.00	\$200.00	\$95.00	\$0.00	\$0.00	\$120.00	\$1,263.00
8	\$265.00	\$2,120.00	-\$424.00	\$200.00	\$95.00	\$0.00	\$0.00	\$240.00	\$2,231.00
12	\$250.00	\$3,000.00	-\$600.00	\$200.00	\$95.00	\$0.00	\$0.00	\$360.00	\$3,055.00
16	\$250.00	\$4,000.00	-\$800.00	\$200.00	\$95.00	\$0.00	\$0.00	\$480.00	\$3,975.00
20	\$250.00	\$5,000.00	-\$1,000.00	\$200.00	\$95.00	\$0.00	\$0.00	\$600.00	\$4,895.00
24	\$245.00	\$5,880.00	-\$1,176.00	\$200.00	\$95.00	\$0.00	\$0.00	\$720.00	\$5,719.00
30	\$245.00	\$7,350.00	-\$1,470.00	\$200.00	\$95.00	\$0.00	\$0.00	\$900.00	\$7,075.00
40	\$240.00	\$9,600.00	-\$1,920.00	\$200.00	\$95.00	\$0.00	\$0.00	\$1,200.00	\$9,175.00

Notes

Pathway 1 is CLLC's Level 6 General English.

It may be taken as General English or College / University Pathway.

Pathway 2 is CLLC's Level 7 University Pathway Program (UPP).

Available only as a 10-week block.

Conditions

- All fees are in Canadian dollars (CAD) and may be subject to change without notice.
- **Volume Discount:** The longer you study, the lower your tuition cost per week. Students who register for more weeks benefit from a reduced weekly rate.
- In the tuition packages above, the Volume Discount has already been applied. To receive this discounted rate, full tuition payment must be made at least 4 weeks before your program start date.
- Fees apply for 2026.
- For more information, please contact ivan@cllc.ca.



For more details about our programs and schedules, visit our website at www.cllc.ca.